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Course title: healthy feeding. (UROI3)

Q1- Answer by i ,r X for these sentences : (20 marks, one
marl< eaclr)

l-severe calorie restriction reduces basal metabolic rate.. .... ( )
2-The foocl pyramid contains the five main food groups that each
person can replace only one of them. .......( )
3-Ghrelin increases food intake: Ghrelin plays an important role in
feeling of hunger, food intake ancl therefore weight gain decreasecl.

4-Pernicious anemia is inheritecl anemia and its symptom, in.tua.r( 
)

anorexia, loss of weight, dyspepsia, nausea, vomiting, diarrhea and
the tongue become beefy. ...(
S-Ghrelin Modulate inflammatory response ......(
6-The lack of RBCs is the only cause of anemia. ..... .. (
7-Exposure to toxins, such as pesticicles, arsenic, and benzene may
Iead to aplastic anemia and atrophy of bone marrow this leads to
failure in production of RBCs. ( )
8- Hereditary spherocytosis , Target cell anemia, megaloblastic
anemia and Sickle cell anemia are examples of hemolytic anemia .

...... ..( )
9-obesity in children is more dangerous illness than in adult.. .... ( )
10-Bleeding from peptic ulcer, esophageal varices and from piles can
cause pernicious anemia ........( )
11- Vitamin E participates in epithelial glycoprotein synthesis ancl
this protects the mucosa of urogenital tract, respiratory tract,
gastrointestinal tract, the cornea and the skin. ........ ( )
l2-Target cell anemia is not Genetic disease and arise as a result of
diminished or absent procluction of one or more globin chains. ...( )
13-The deficient of G6PDH in RBCs make the cell less able to
produce enough NADPH necessary for regeneration of glutathione
through pentose shunt pathway. .........( )
l4-Vitamin k leads to Prolonged clotting time ... ( )
15-The daily intake of iron is about 10 mg of which 1.5 mg is
absorbed and the rest pass in the stools. ......( )
16-Leptin informs the hypothalamus about the extent of fat stores
and leptin blood level proportionate with fat store. .....( )
17-Vitamin D deficiency cause osteomalacia in adults softening of
skeleton due to demineralization. ..... ( )

.\

)
)
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I fi-liver cirrhosis can
lg-Ghrelin hormone
20- Bodv mass indcx

Q2- Anslver Five questions onry: (30 marks: 6 marr<s each)
l-what are the physiorogicar effects of reptin? 6 items
2-what are the biologicar functions of dietary lipids? 6 items
3-Briefly explain the types of clietary fibers? And mention the
functions of dietary fibers in the intestine? 6 items
4-What are the Advantages of additives? 6 items
S-Compare befw,een the types of flavoring agents?
G-ldentify anemia? and whif are the ""rr"" oflregarobrastic
anemia? 5 items

cause nreg:rlohlastic anemia. .....( )stimulatcinsulinsecretion.......:.. ......( )
cquation c:ln evaluate the risk of obesity in

or types of browning fruits and vegetables? and
by antibrowning agents?

human....

7-What are the causes
how can protect them

With my best wishes and great success,

Professor Dr. Mohamed Bassam AI-Salahy
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I- Ide"tify th" t"pi" *"t"""" in-tfre fott.*il[ p;t"gt;pl* 16 Marks)
Often, journ:tl u,ritir"rg is a very pcrsonal and privatc activity. Somt: pt:oplc who u'rite
journals nevcr sharr,t a single u,ord ol thcir writing. Note takirtg firr rl c-ollcgc: course

ts also arr nc:t thett r,r,ritcrs usualiy trncit:rt.akc individr"rally. At otllt:r titrcs, hottc:vc:r,

rvriting is cxplicitly co11:rboratlvc, sr-rctt as rvhcn scicntists clo-zllllhor pLtbiicatit>ns or

1vhcn mrtrc: t-hi,ir-r onc pcrson n.ritr-:s :t t-rt-rvt:1. [,]ul cvcrt singlc-i.ltttl-rort:d piccrcs ol
r,iriling irr-('oftcn thc rr:sul1 ol nritn.\'pcoplt: n'orl<tttg togc:thcr. [iot'instance,
pubHshccl rvril rng -- ['rorn ne\\rspaper i-rrLicles to scllol:rrlv tcxLs atrr.l lo iriovie

reviews-.undc.rgocs editrng ancl rt:visions. Itccciving outsiclc l'ct:clback otl il piece of

u,riting is a conlmon anrl crucirrl clerncnt ol- [t.rrtritrg rt got-rcl rit';tl't inlo sotncthing

publishablc. Ciivcn lhcst: varit:rl situatir)rts, w't'iltttg, tlatr Irt' [lot]'t it solitan. and

colIaborit I itir' cn<] c:avor.

II- Read the following passage then answer the questions below: (18 Marks)
Sc2gulls livc on thc bc2ch.'l'trcy cat snrall 1lsh, brc:rd,:rnd sc:ttvt:t:cl. Scagulls

nn quicl.i-r,o,-1 tl-rr: sancl 2nd fly c1nickl.1, in the sk1,. Seagulls r,vill run or llv au,aY if
vou try to catch thcm.'l'here are nrarny s(]agulls on the bcach

C-'rai-rs also live on the beach, The1, eat sttrinrp, ocean plants, atnd snrall fisl'r.

Orabs r.:rau'l quickly 6rr ttrc sancl anrl itt thi: ocealr. (lrabs w'iil ct'it$'l i:l\\/i:1\/ il -r'0tr t11'

Lo catch them J'trere are ntar)\,c;lil-rs o6 the beach, brrt it is rlot alr,t'ltt's e:lst'to see

t hem.
Slarfish livc on thr: trr.iit:h, too, Thc.v clrt <:1ltnls, ovst('l's.:tnrl small lish'

Starfislr rilovc slor.r,1v on thc salrcl antl in lhc oc(-'an, SteLrl'islr w'ill t)t,t tllt-rt"t'ar','a.y tl
you tr-v tr.r c:rrtr:h thr:nt.'l'llcrc atrc lcn'sterrfish tln ti'ttl bca<rll.

1) Seagulls, crabs, and starfish
A. clelrns

2) Which animal does not move
A. star'[rsh

3) Based on information in the
A. Starlish are hard to catch.
C. Seagulis movc rluicklY on ll'tt:

4) The passage does not talk about
A. wlrat star-fish cat
C. htlrt' f ast bearr:tt anirnals n](lv(r

passage, which sentence is false?
Fl, Crabs calI sltrimp ancl occall plants

sand and in thc air.

""''i; 
t',,rr,',,.,,,1rs c;rtt'lt lirorl

the back of this sheet)

all eat
Il. brt:zirl

quickly?
li. sr::agr: lls

(1. l.ish

(1. rrr-abs

(Please go to



(Page Two)

5) Based on information in the passage, which animal *orrtd you be most likely
to see at the beach?
A. crabs 13. scagu lls (1. starfish

6) Based on information in the passage, we can understand that
A. the beach is not as nicc as thc mounlains
R. thc beach is a gor:cl plat:e 1o vilcation
C). many animals livc ai1 thc bcer<:tr

III- Choose the correct answer: (2o Marks)
l- You must bc thcre early in t.hc morrring, or you u,i11 losc thc.ic.rb [o someone eise.

l'his is a (simple - compound - complex) scn[cncc.

2- While rve waitecl at the train station..Joe realized that the train n'as late. l'his is a

{simple - compound * complex) sct-ttctlr--c.

3- Mart, ztncl Samnntha took thc birs.'lhis is a (simple - compound * complex)

scntencct.

4-Neither strc nor I (are - am - is) goir-rg to the t'estival.

5- Each olttre tcachers (is - are * am) going to leave tlre sr-'hool

6-He is onr: of thc mcn who (does- do - doing) thc u'ork.

7- GiVc it to (whom - whoever - whomever) asks lilr rl first.

8- She spoke (quickly - more quickly - quicker) than hc did

9- 'fhe lc'zun ilrc pltttlng on (their * its * there) coitts.

l0- Cirt it (up - in - into) smal1 pii:ccs.

IV- Transtate the following into Arabic: (6 Marks)

Cutting off trccs in r:itics is:in ill rlccd. Trccs givc-: r-rs sharlr: tn sttnlrnCr ar-rd the

grccn colour nrakcs us fcr:l 3l girsr.. 'l'rccs also prrrilr tlrc i.rit' :ttttJ lhcY givr] o11'oxygcll

bv dai,.'l'hal's 1i,h\, $,e shoulcl c|<t or-rr br:st to sl)t'etrd Llle green colclLtr all ovei'our

countrv.

(Best Wishes)
Main Examiner:

Dr. Marwa M. AbdelMotaleb
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I- trndicate the number of morphemes in each of the following words: (1O Marks)
l. incscrrpa-rblc
'2. horscs
.1 . cllls
4. unlikcly
5. cat'rr.r1

II- Read the following passage, and then answer the questions below:
(12 Marks)

Althougir greaL natural ban'iers hinrlcrecl east \\'est clevelollt-l'lct-it lrl Canada, this
circumstzrnce \\1as rnitigatecl by the mighlt' t'iver atnd lal<e svsLems tlrat provided

avenues for the fur traclcr, missionary, solclicr, and sc:1tlct-. Clanatla s rit'ers ar"rd lerkes

allowed arrcl, inciccd, invitc<i \/onturcsornc pionccrs to t'xplorc Llrr: intcrior of the

conLinent and i1 spite of Ltatnral balriers, to Lap its greaL r,r'ealth The rivers alncl lakes

wcre esscnlial to the grcal fur cmpircl pcoplo in canoc's Itrougl-rt ft-tt's lrorn thtl farthest

extremity ef the Clanacliarp Slticiil to N{ontreai [br expot'littion to li,tt1"opc.'l'ile- first
setLlemcnts sprcacl along thc rrvr:rs. sincr: only th<.- rir,'i:t's prrlvitl<-'d tr;'1nsl)orlitljon ancl

communicerricin. Mrlitaril.y, rivcrs ainri lal<cs worc ilf'llrimc inlporl:lt-lt:c; u'hocver

controilr:cl thc St. I.au,rcncc ancl its r:nlrilttctr als<.r <:tlt.ltrtllit'cl Cl'rrlrtclrl.

What is the main subject of the passage?
(A) ',l'hc role of riycrs anr.1 lerkcs in canaclian tlr:vclol)rl)('l1t

(l-3) 'l't.rtt ltarrrcrs to casl u,csl cornr-nt.ttrtc:attirltl i:t (lllttl,trllt

(C)'l'hc advcntttrcs o[' Cani.tcllein sctl ]crs
(l)) 'ftre cleveloptnctit ol tl-re Clrnztrliittt hir cntlltrc

Which wr:,ld be an example of the type of barrier the author refers to in line I?
(A) A rnilitr,rry fort (ll) A lnourttaitr |ltt]gc

iCi n p.lilic,l bor6cr (D) An .ncict-tt f.ttrl

3. Accordirrg to the
as....

passage, rivers and lakes were important in the firr trade

1.

2.

(A) tr i,rns1;ortation routes
(C) soLrt'ct:s o[' wattcr

(13) lr:rbitetts lor' {'til' [;c'ilrlng ltrlintals
(L)) nar u ra1 li.,rl i['it';tl rorr s

In line
(A) a,

(c) a

5, the word "extremity" means...""
iirnb o1'tht: boclv ([3) thc trost clisk'int prtrt

scvcrc rrleelsllro (l)) lhc gr('tll(rst clt:gt Ct:

4.

(Ptease go to the back of this sheet)
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5. According to the passage, what pattern of expansion did

follow?
(A) 'fhey follou,cd thc <:oursc of thc rit,crs.
(B) They moved dirr:ct11' front catst tr.r u'cst.
(C) Thcv aclvanccrl along thc Clanadian Shicid
(D) They sprrc:.rd arouncl thc pcrirnetcr rlf lakcs.

6. The author uses the example of the St. Lawrence mainly
rivers and lakes in...

(A) r-rrban settlcrncnl (i3) mililarv <'ont
(C) ccononric ricvcloprxcnl (l)) rtglit:t.iitural t

the first settlements

to illustrate the role of

rol
'r: st: lr rcl t't

III- Match each word from column {A) wit}r its word formation Process in column
(B): (12 Marks)

IA)
I. UNtrSCO
'2. bizarrc

cl) l'3i<:nding
qi *.f-3p,1o-uilg
0 Acronym

IV- Read the following sentences and choose the best definition for the italicized
word by searching for context clues in the sentence: (1O Marks)
1. The Monllorts havc dcc:iclcd to takc il crLtist', so tht:r'u'ctrt trr thc tt'lrvi:l :-i6',crrr:\'for

some brochures.
a. panrphlets b. Price list

2. Marsha found it difficult Lo cope with
a. arnticipatc b. dcal '"r'ith

c. incluisition d. qiri:slions

d. con[irtt-t

3, 'I'he ..-ittornc-v u,itntcd
impzrtie nt.

a. trr:celcratc

Lo eXpedite thc proCCSS bccitusc hcr clicnt $'as bccomtng

4, 'I'he ner.l, shipl;irrg ancl

mcct our growing ucecls.
a. obsolete

tl. cvaltLttc c. rcv(lrs(r rl . j Llst ilv

receiviirg builrlirrg is an expansiue lllcrlrt-r', lrtrgc erlotrgtl to

I

I.t -
l

I

I

I

I

l-,-,...-.---
I

i

(B)
a) Fore clipping
b) Contpr.rur-rcling
t ) ll!ltiiltt*

lhc loss of'hor iob.
c. think about

b. spacious (-'. rneagcl'

5. The asphalt at [,a Brea seeps to Lhr: sur{'ace, especiall.t,,ir
shallou, pr:clcllcs that u'ouicl oflcn iravc br:t:n concealedbx'

a. covcrecl b. higlrlighlcci c-'. tt'anslilt"t.trecl

d, r-rostlY

r tlre sumln('r, ilncl I'orrns
ir.'iivt:s lrr,c1 du st .

c1. conlatninaLecl

V) Write the antonym of the following words, bY adding the proper preflx:
aclive - rcjsltonsiblc - haPPY

(Best Wishes)
Main Examiner:

Dr. Marwa M. AbdelMotalb

(6 Marks)



Exam : Quality Assurance

Mav 2019
Course code: o2o U R

Duration: 2 hours

One page

Iraculty of Science

Answer the follorving questions:

aUestigU pUe: Define the follorving managerial concepts:

l. Qualitr,.

2.'l'otal qLralitv lraltagelnent.

(egltgdlyo: Write short notes on the fbllorving topics

L What senior maltagers need to l<now about1'QM?

2. What scnior maniigers lteed to c1o about'l'QM?

(20 marl<s)

(20 marks)

( l0 rnarl<s)

pri nc i p les o1' total c1 Lra I itv nrarragenrerrt?

@ tion Three:

l. What arc the eight rnanagelnenl

End of Questions

f*,zZ-r
Dr. N4oslalir A bclel nrota let'r

Dr.'Liacl ['{asan



Assiut University
Faculty of Science
Toology Department

Second Semester/ General Zoology
Exam /Junel?0l9

Time:2 hour
Level: First
Course Code: l00Z

Answef the followine questions (50 marks)

1. The......produces melatonin which affects the biological clock (light/dark time).

a) Pineal gland b) Thyroid gland c) Adrenal d) parathyroid gland2. Arthropoda has no........

3. Annelids are... ............animals.

a) A coelomate b) Pseudocoelomate c) coelomate d) Dipoloblastic

4. Which structures are used by poramecium for rnaintaining water balance?
a) Contractile vacuoles b) pseudopodii

a) Segmented body

c) Radial symmetry

a) Protein synthesis

c) Cellular respiration

a) Thyroid

c) Parathyroid

b) Jointed appendages

d) Exoskeleton

c) Food vacuoles d) Cilia

5. The ribosome is a non mentbranous organelle that functions in process of..

6. ............hormone increases the level of sugar in the blood.

a) Insulin b) Glycogen c) Glucagon d) parathyroid

7. Thyroid stimulating hormone is produced by............gland

b) Pinocytosis

d) Phagocytosis

b) Anterior lobe of pituitary

d) Posterior Iobe of pituitary

6. The circulatory system is opened in .........
a) Ascaris b) Insects c) Fasciola d) Earthworm

7. The nervous system is absent in ......

a) Fasciola b) Hydra c) A,scaris d) Sponges

8. Ttre neuron is called .........when a single process arises from its body.

a) Bipolar b) Multipolar c) Unicellular d) unipolar



9. If two organisms are in the same phylum, flrey must also be in the same....
a) Genus b) Species c) Class d) Kinp,lorn

10. The tail of a phospholipirl molecule.is,......;..........

a) I-iydrophobic b) l_tydrophilic

c) Neutrophil a) Hydrostatic

11. The process of formation of mare and female gametes is known as........
a)' Fertilization b) oogenesis c) spermatogenesis d) Gametogenesis

12. which organelles modify, sort and package proteins in the cell?
a) Mitochondria b) Ribosomes c) Golgi complex d) Lysosomes

13. ...attach bone to bone.

a) Tendons b) Ligaments c) Erastic c,T. d) Dense irregurar c.T,
14' The entrance of liqrrid materials across the cell rnembrane is called.

a) Phagocytosis b) pinocytosis

c) Exocytosis d) plasmolysis

15. lvhat type of glands secretes its product directly into the broorl?
a) Endocrine b) Uniceilurar c) Exocrine cr) Gobret ceil

16. .................are formed mainly of actin proteins.

a) Microtubules b) Intermediate filaments c) Microfilaments d) All
17. Which one of the following is highly vascularized?

a) Cartilage b) Sirnple epithelium
c) Stratified epitheliurn d) Areolar C.T.

18' AII bones, cartilages, blood and tendons originate from mesoderm.

a) True b) False

19. which of the following is the correct scientific name of the honey bee?

a) Apis Mittifera b) apis Miilifera
c) apis millifers d) Apis ntillifera

20. Rank the following terms from simprest to most comprex.

a) Cells, organelles, organs, tissues, organism

b) Tissues, cells, organelles, organs, organism

c) Organs, cells, organelles, tissues, organism

d) Organelles, cells, tissues, organs, organisin



(A) TransrnitS neive impuG

(B)Coversthebo@i

(C) Movernent

(D) Binding and Support

(B) Match each of tn- frffo*ingEpes of epitf,e,irr-@

4. Nervous

I. Simple column.ar

3. Chondrocyte

4. White fibers

5. Flematopoietic stem cell

6. Extracellular matrix--

(l{) Short and st.c,ngJiber;fo-,,.d i"
lymph nodes

spleen, and

(A) Match each of ,n,

Column I

l. Connective

The answer

3. Epithelium

(A) Single laye.of "ellithati,=@are tall.

(B) Multiple ce@".lrrlr" _-*
flattened.

2. PseudostratifGd cohlmna.

3, Simple squumors

5. Simple cuboidal

(A) Non-livtng mffi;;A, 
"Gconnective tissue

(C) Single tayeiof RatGn"a.eil*

(D)Singletayerof@
nuclei at diffurent Ievels.

(E) Single layer o
wide.

2. Bone tissue
(B) Produces blood cell.s

(C) Strong bundles oTnUEs founO m.,rly ilt"ndr,rs

(D) Carri lage prod ui in[ cet I

(E) support"ana p-te.tr@
synthesizes blood cells
(F) Bone producing cell

(I)Thermal insulation
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(D) IVIatch the column l with column 2

(A) Diploblastica

(B) Defined species

(C) Segmented with circr.rlatory system

(D) Composed of one cell

(E) No true tissues

(F) Have tail

G) pstaUlished Birromial nomenclature

Third ouestion: Write the sciglrtific expression of the followine (5- marks)

A membrane bound vesicle with hydrolyzing and digestive enzymes, (." '. ...'..,'..")

A science of biology deals with the structure and function of tissues. ('. " "" " )

The union of sperm and ovum to form zygote (. .'.. ' "")
A tissue that carries information from one part of the body to attother. ( . ." . " "" " ")
A two name system for writing scientific names. (' .' . ', '." ' ' ')
A type of cells having both nuclear membrane and membranous organelles in their

cl4oplasm (,,..,. '....'.)
A type of neurons that transmits the nerve impulse from the brain to tnuscles or glands

(. ... .......)

8. Long branched fibers and are made of elastin proteins. (. . ' ' ' ' '" )

g. A circulatory system in which the blood is contained within vessels and circulates

throughout the vessels. .(.. , ... " ." ")

10.'fhe movement of molecules or ions frorn high to low concentration across the lipid bilayer

of the cell rnembrane. .(. ....' '..'.)

Fourth ouestioni Ansr,ver Five only of the followinq (15 marl!!)

1. Complete the following table about cartilages.

1.

,|

3,

4.

6.

1.

.1. Kingdorn Protista

4. Phylum Annelida

(r. Phylum Cnidaria

Type of cartilage ') 3

Dominant fibers Elastic Has less iibers and the

matrix is glassy

Location Interverteblal disc



2' {,ist three differences onlv belween Platvhelminthes ancl Nernatodes.

Differences Platyhelminthes Nematodes

Digestive systenr

At the egg center

Give an example __=i]rt
4. Write one function only for the following:

Differences

E-Wrltprhr.trffi

3. Complete the following table about different tvpes of animal eggs.

The organelle/tissue

I.SER

2. Nephridia

Function

3. Transitional epitheliunr

4. Microtubules

5, Centriole

6. Simple squamous epithelium

5. What.rlre the rnain differences between co{rnective and epithelial tissue?
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Fifth oueqtion. An.s$ er Fotlr onh' of the tbllolving 
- - , -JJ-8':na:1S)

',J
--- 

lI

l':* iy5LjS!rit'l

.\) l,lentil\ the i; pe il1'sy nrtrretrl

is it arr ilsccr'] . . ...........Wlr)?.. .. Furtction ol label (a-t.

f ltis anitnrrl belotrgs to phvlttttt

ls it a l'ertebrate atlimal? "'rurr:j-"" " '

1(.) lclentil-r thc npe ':llllirscle"" '

l-ocaliott.

Descrtpttott.

(b) ltlcnltl; - .

Furtctions:
Mention a pltt lum zrird an ailitral Lreals this

strltctUre.

Functiott

(F:) ldentil.t

Labels:
a),.,

b).. .. .

I

I- unctiott: t-'f' la'L,el (c ).

Ih Drs. Safaa, l'Iona and AIi \\'ith our best tlisltes


